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the money supply was raised 10 percent, prices and wages would rise 10 percent and nothing
else would be changed.

If the economy was in a recession and the unemployment rate was high, an increase in
the money supply would not help. After the money supply was increased, prices and wages
would be higher, but the unemployment rate would be unchanged.

The Classical view on how an increase in the money supply affects the economy is
reflected in the mmm.mmmmﬂm supply/aggregate demand (AS/AD) model in Figure 17.1. The
increase in the money supply shifts the aggregate demand curve to the right. But suppliers
respond to this increase in the demand for their products by raising prices from P, to P,, but
not output. Remember, the Classical aggregate supply curve is vertical. So the increase in
aggregate demand has no effect on the quantity of output. Since output is unaffected, so is
unemploymeni.

Price LRAS
Level
P, £,
AD’
AD
€ Reat GDP

Fig. 17.1 An Increase in the Money Supply: Classical View

The Classical economists based their conclusions about how money affects the economy
on the equation of exchange:

MxV=PxQ

Where M is the money supply
Vis the velocity of money
P is the price level
Q is the quantity of output or real GDP

The money supply can be defined as M, or M,. The velocity of money is the number of
times the typical dollar of M; or M, is used to make purchases during a year. The price level
is the average price of a good or service in the economy, the same as the vertical axis in the
AS/AD model. The quantity of output can be measured with real GDP and is the same as the
horizontal axis in the AS/AD model. n

The equation of exchange is a tautology, meaning it is true by definition. No economist,
Classical or not, disputes the fact that M x V= P x Q. But the Classical economists take this a
step further and assume that V and Q are constant. If this is true, then the arithmetic of the
situation tells us that if M increases 10 percent, P must also increase 10 percent.

AP MICROECONOMICS/MACROECONOMICS
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The Monetarist view on how a change in the money supply affects the economy, like the
Classical view, is based on the equation of exchange. However, the Monetarist view is not as
rigid. The Classical view maintains that V and Q are constant, so that an increase in M will
have a proportional effect on P. Q is not affected. The Monetarist view is that V and @ are
stable in the short run, but not constant. This means that both P and QQ will be affected when
M is increased. Indeed, the Monetarists assert that most of the fluctuations in Q over the
years are the result of the Féd changing M.

The Monetarists are highly critical of the Fed. If changes in output are caused primarily by
changes in the money supply, then all the Fed need do is allow the money supply to increase
at a reasonable constant rate, say three percent a year. When the Fed undertakes monetary

~ policies that reverse the direction of money growth, this results in the recessions and infla-

tions we observe in the economy.

Keynesian View

A third perspective on how a change in the money supply affects the economy is that of the
Keynesians. See Figure 17.3. This view, like the monetarist view, is concerned with short-
run effects and uses an upward sloping aggregate supply curve. The difference is that the
Keynesians believe that a change in the money supply affects the economy through one
channel, not many—and that channel is the interest rate.

An increase in the money supply would lower interest rates, since more money is avail-
able to be borrowed. Lower interest rates encourage households and firms to take out loans
in order to increase spending and investment in plant and equipment. This means more
aggregate demand. ,

Money w interest w Borrowing w Aggregate
supply @ rares @ & wumsa_n@© demand
Fig. 17.3 How an Increase in the Money Supply
Affects the Economy: Keynesian View

However, Keynesians argue that the increase in aggregate demand will be small. The
increase in the money supply will only lower interest rates a bit according to Keynesian
analysis. To see this consider Table 17.1, which shows the supply and demand for money.

The supply of money is vertical because it is not related to the nominal rate of interest.
The Federal Reserve determines the money supply. The demand for money is downward
sloping to reflect the fact that it is negatively related to interest rates. When interest rates rise,
households and firms decrease their money holdings. They would rather put their money
where it can earn the higher rates of interest, usually in bonds.

The demand for money is also affected by prices and income. If either of these increase,
the demand for money will shift to the right. If prices increase, then households and firms
will need more money to pay for the things they buy. If income increases, then households
will want to buy more things and this means larger money holdings in their wallets or in their
checking accounts.
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Fig. 17.5 An Increase in the Money Supply: Keynesian View
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Targeting the Federal Funds Rate

When the Fed increases bank reserves, interest rates in the economy should fall since more
money is available to loan out. One critical interest rate is the federal funds rate. HEm is the
interest rate on loans from one bank to another. Several key interest rates in the economy
tend to move in tandem with the federal funds rate.

The current practice of the Fed is to raise cr lower bank reserves in order to peg the fed-
eral funds rate at some desired level. The Fed targets the federal funds rate in o&mw to know
if more or less money is required in the economy.

For example, if the federal funds rate began to rise, it would indicate EmH loanable funds
are becoming more scarce. If the Fed wants to head off a recession, it would add reserves to
the banking system, perhaps through open market opierations; in order to keep the federal
funds rate from rising.

SUMMARY

m The term “demand management policy” refers to both monetary and fiscal policy
because, like fiscal policy, monetary policy shifts the aggregate demand curve. If the
government decides to increase total spending in the economy, shifting the aggregate
demand curve to the right, this could be accomplished by increasing the money supply,
or increasing government spending, or reducing taxes.

» Most economists believe that a change in the money supply will affect both prices and
output in the short run. Classical economic theory tells us that in the long run a change
in the money supply will only affect prices. Only resources and technology can affect
output in the long run; a change in the money supply cannot.

s Monetarists believe that changes in the money supply have a profound effect on the
economy in the short run; for instance, a decrease in the money supply would result in
lower prices and less output. Therefore, lowering the money supply would be a good
way to fight inflation, but it could result in a recession since output decreases. The best
thing the Fed could do is forget about trying to close recessionary and inflationary gaps
with monetary policy and, instead, allow the money supply to grow at a steady, constant
rate. This would result in an economy that grows at a steady, constant rate.

w The Keynesian economists disagree with the Monetarists on many points. A change in
the money supply would affect the economy through just one channel, interest rates.
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MULTIPLE-CHOICE REVIEW QUESTIONS

1. The Federal Open Market Committee 5. Inthe equation of exchange
{A) advises the President of the United States. (A) M stands for the money supply and Q
{B} is part of the Federal Reserve System. stands for quality.
(C) has seven members. (B} V stands for the velocity of GDP and Q
(D) promotes free trade. stands for quality.
(E) is part of the legislative branch of {C) P stands for the price level and Q stands
government. for quarter.
: {D) P stands for the price level and V stands for
2. According to Classical economic theory, a . the velocity of money.
decrease in the money supply would (E) P stands for population and V stands for
(A) raise the price level and output in the the velocity of money.
economy. , _
(B) lower the price level and output in the 6. The velocity of money
€CONCIny. (A) cannot be calculated for an actual
{C) raise the price level in the economy. economy.
(D) lower the price level in the economy. (B) is how fast money can be transferred.
(E) raise the price level and lower output in (C) is required to calculate the money
the economy. _ multiplier.

(D) is the number of times a typical dollax

3. According to Monetarist analysis, a decrease in changes hands.

the money supply would _ (E) is the number of times a typical dollar is

(A) raise the price level and output in the used to make a purchase in a year.
economy.

(B) lower the price level and output in the 7. In the equation of exchange, if Vand Q are
economy. constant, then

(C) raise the price level in the economy. (A) changes in the price level must be

(D) lower the price level in the economy. proportional to changes in the money

(E} raise the price level and lower output in supply.
the economy. {B) changes in the money supply have no

- ‘effect on the price level.

4. According to Keynesian analysis, a decrease in (C) changes in the price level cause changes in

the money supply would the money supply.
(A) raise the price level and output in the (D) the equation is invalid.
economy. (E) the money supply must be zero.
(B) lower the price level and output in the
economy. : 8. An increase in the price level shifts the
(C) raise the price level in the economy. (A) money supply curve leftward.
(D) lower the price level in the economy. (B) money mzm:u:\ curve rightward.
(E) raise the price level and lower output in (C) demand for money curve leftward.
the economy. " (D) demand for money curve rightward.

(BE) aggregate demand curve leftward.
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FREE-RESPONSE REVIEW Ocmm4_ozm

1. Suppose the money supply is increased. What would happen to the equilibrium price
level, the equilibrium quantity of output, and the unemployment rate according to

(a) Classical economic theory?
(b) Monetarist theory?
{(c) Keynesian theory?

2. Explain why the three schools of economic thought in Part 1. reach different or similar
conclusions conceming how an increase in the money supply will affect the economy.

Multiple-Choice Review Answers

1. (B 5. (D) 9. (D) 13. (C)
2. (D) 6. (E) 10. (C) 14. (B)
3. (B) _ 7. (A) 11. (B) 15. (B)
4. (B)Y : 8. (D) 12. (D)

Free-Response Review Answers
1. Ifthe money supply were increased then

(a) according to Classical economic theory the equilibrium price level would increase
and the equilibrium quantity of output would remain unchanged. Since the quantity of
output is unchanged, the unemployment rate is unchanged.

(b} according to Monetarist theory the equilibrium price level would increase and
the equilibrium quantity of output would increase as well. Since the quantity of output
increased, the unemployment rate would fall. .

{c} according to Keynesian theory the equilibrium price level would increase slightly
and the equilibrium quantity of output would increase slightly as well. Since the quantity
of output increased slightly, the unemployment rate would decrease slightly.

2. All three schools of thought agree that an increase in the money supply will raise the
equilibrium price level. Hlowever, the Keynesians believe that the price level will only rise
slighdy. This is because they believe that an increase in the money supply will stimulate
only a small amount of extra spending. Another way of saying this is that the Keynesians
feel that an increase in the money supply will shift the aggregate demand curve to the
right, but only by a small amount.

Similarly, the Keynesians feel that the equilibrium level of output will increase only
slightly because total spending is not that sensitive to changes in the money supply.
Therefore, unemployment falls modestly. The Monetarists, on the other hand, believe
that an increase in the money supply has a significant impact on the economy. The
equilibrium quantity of output rises substantially because spending is boosted by the
increase in the money supply. Therefore, unemployment falls significantly.

Only the Classical thinkers believe that the equilibrium level of output and the
unemployment rate will be completely unaffected by the increase in the money supply.
This is because of the Classical emphasis on the long-run effects of any change in the

" economy. The amount of output that an economy can generate depends on the amount
of resources available and the state of technology. An increase in the money- supply
affects neither of these and so the Classical conclusion is that output is not affected by
an increase in the supply of money. It only serves to raise prices.
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